CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-46267-663a6adced717

VERIFY.FTGS.US Date: May 07, 2024

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES **ORLY INTERNATIONAL** 7710 Haskell Avenue **Destination Country Destination Port** Los Angeles Kuwait **KUWAIT** California 91406 **United States Export Date Exporting Carrier** Consignee ORLY INTERNATIONAL, INC Bill of Lading / AWB Import Permit Number 7710 HASKELL AVE VAN NUYS, CA 91406 **United States** Forwarding Agent Owner or Agent

Buyer (Importer)

DISTRICT GENERAL TRADING & CONTRACTING CO HAMAD AL MUBARAK STREET SALMIYA, BLOCK 9 **ZIP CODE 22100** Kuwait

Remarks



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
NAIL POLISH	631.95 KG	United States
H.S.Code: 3304.30.0000 NAIL TREATMENTS H.S.Code: 3304.30.0000	522.95 KG	United States
H.S.Code: 3304.30.0000 WIPES H.S.Code: 4823.90.8850	24.75 KG	China
DETAILOR BRUSHES H.S.Code: 9603.30.9000 CERTIFICATE OF ORIGIN	1 KG	China
NAIL FILES Accredited Chamber US2100201 H.S.Code: 8214.20.0000	26.35 KG	Korea, Republic of (South Korea)
CAAMBERS FEDERALION		



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Sold-To: District General Trading & Contracting Co. Hamad Al Mubarak Street Salmiya, Block-9 Kuwait

ZIP Code: 22100

Credit Terms: N90 Resale: Remarks:

COMMERCIAL INVOICE

Page 1 of 2

INVOICE NO.: SO309843 Date: 2/27/2024 Country of Origin: United States

Ship-To: District General Trading & Contracting Co. Hamad Al Mubarak Street P.O. BOX 9958 Salmiya 22100

Kuwait



Attention: Mohammad Khalaik Telephone: 818-994-1001 Purchase Order(s): DST/24000359 Ship Via: ocean Freight Terms: Ex Works

				Country		
Ln Item Nbr	Description	Qty UM	Net Pr	of origin	Ext Price	HS Code#
1 22105	ORLY FM LAQ .6fl oz/18ml BEVERLY HILLS PLUM	36 EA	2.840	USA	102.24	3304.30.0000
2 20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	180 EA	2.840	USA	511.20	3304.30.0000
3 20844	ORLY LAQ .6fl oz/18ml CAKE POP	36 EA	2.840	USA	102.24	3304.30.0000
4 2000216	ORLY LAQ .6fl oz/18ml CECI N'EST PAS BLANC	72 EA	2.840	USA	204.48	3304.30.0000
5 20039	ORLY LAQ .6fl oz/18ml CLEAR	108 EA	2.840	USA	306.72	3304.30.0000
6 20693	ORLY LAQ .6fl oz/18ml CONFETTI	36 EA	2.840	USA	102.24	3304.30.0000
7 20702	ORLY LAQ .6fl oz/18ml COUNTRY CLUB KHAKI	72 EA	2.840	USA	204.48	3304.30.0000
8 22502	ORLY FM LAQ .6fl oz/18ml DES FLEURS	36 EA	2.840	USA	102.24	3304.30.0000
9 20773	ORLY LAQ .6fl oz/18ml HALO	36 EA	2.840	USA	102.24	3304.30.0000
10 2000018	ORLY LAQ .6fl oz/18ml IT'S BRITTNEY, BEACH	36 EA	2.840	USA	102.24	3304.30.0000
11 20935	ORLY LAQ. 6fl oz/18ml JUST BITTEN	180 EA	2.840	USA	511.20	3304.30.0000
12 20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	36 EA	2.840	USA	102.24	3304.30.0000
13 20484 14 20025	ORLY LAQ. 6fl oz/18ml LIQUID VINYL	36 EA 36 EA	2.840	USA USA	102.24	3304.30.0000
15 20713	ORLY LAQ .6fl oz/18ml MA CHERIE ORLY LAQ .6fl oz/18ml MIRROR MIRROR	36 EA	2.840 2.840	USA	102.24 102.24	3304.30.0000 3304.30.0000
16 20006	ORLY LAQ .6fl oz/18ml NAUGHTY	36 EA	2.840	USA	102.24	3304.30.0000
17 20064	ORLY LAQ .6fl oz/18ml ORLON BASECOAT	72 EA	2.840	USA	204.48	3304.30.0000
18 20944	ORLY LAQ .6fl oz/18ml PENNY LEATHER	36 EA	2.840	USA	102.24	3304.30.0000
19 22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	216 EA	2.840	USA	613.44	3304.30.0000
20 20651	ORLY LAQ .6fl oz/18ml PLUM NOIR	36 EA	2.840	USA	102.24	3304.30.0000
21 22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	252 EA	2.840	USA	715.68	3304.30.0000
22 20715	ORLY LAQ .6fl oz/18ml PRINCE CHARMING	36 EA	2.840	USA	102.24	3304.30.0000
23 20076	ORLY LAQ .6fl oz/18ml RED FLARE	180 EA	2.840	USA	511.20	3304.30.0000
24 22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSES	144 EA	2.840	USA	408.96	3304.30.0000
25 20363	ORLY LAQ .6fl oz/18ml RUBY	180 EA	2.840	USA	511.20	3304.30.0000
26 20065	ORLY LAQ .6fl oz/18ml SEALON TOPCOAT	432 EA	2.840	USA	1,226.88	3304.30.0000
27 20295	ORLY LAQ .6fl oz/18ml SHINE	36 EA	2.840	USA	102.24	3304.30.0000
28 20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	72 EA	2.840	USA	204.48	3304.30.0000
29 20653	ORLY LAQ .6fl oz/18ml VIXEN	36 EA	2.840	USA	102.24	3304.30.0000
30 22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	252 EA	2.840	USA	715.68	3304.30.0000
31 20757	ORLY LAQ .6fl oz/18ml YOU'RE BLUSHING	36 EA	2.840	USA	102.24	3304.30.0000
32 22012	ORLY FM WHITE TIP GUIDES	54 EA	1.590	USA	85.86	3304.30.0000
33 24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	828 EA	3.510	USA	2,906.28	3304.30.0000
34 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	288 EA	3.510	USA	1,010.88	3304.30.0000
35 24250	ORLY TRT .6fl oz/18ml MATTE TOP	36 EA	3.510	USA	126.36	3304.30.0000
36 24270	ORLY TRT .6fl oz/18ml POLISHIELD	900 EA	3.510	USA	3,159.00	3304.30.0000
37 24310 38 24314	ORLY TRT .6fl oz/18ml SEC N' DRY	432 EA	3.510	USA USA	1,516.32	3304.30.0000
39 24510	ORLY TRT 4fl oz/118ml SEC N' DRY ORLY TRT .6fl oz/18ml CUTIQUE	72 EA 36 EA	8.610 3.510	USA	619.92 126.36	3304.30.0000
40 24554	ORLY TRT .011 02/101111 GOTINGUE ORLY TRT 4fl oz/118ml CUTICLE OIL+ (PLUS)	144 EA	8.610	USA	1,239.84	3304.30.0000 3304.99.5000
41 24555	ORLY TRT 6pc 1fl oz/30ml CUTICLE OIL+ (PLUS)	100 EA	17.550	USA	1,755.00	3304.99.5000
42 24340	ORLY TRT .6fl oz/18ml FLASH DRY	684 EA	4.050	USA	2,770.20	3304.30.0000
43 23113	ORLY 4fl oz/118ml GENIUS ALL PURPOSE REMOVER	24 EA	2.250	USA	54.00	3304.30.0000
44 23114	ORLY 16fl oz473ml GENIUS ALL PURPOSE REMOVER	108 EA	5.850	USA	631.80	3304.30.0000
45 23115	ORLY 32fl oz946ml GENIUS ALL PURPOSE REMOVER	72 EA	10.500	USA	756.00	3304.30.0000
46 2460003	ORLY BRTHABLE TRT.6fl oz /18ml CUTICLE OIL	36 EA	4.050	USA	145.80	3304.99.5000
47 20949	ORLY BREATHABLE .6fl oz /18ml ALMOND MILK	36 EA	2.970	USA	106.92	3304.30.0000
48 20908	ORLY BREATHABLE .6fl oz /18ml BARELY THERE	36 EA	2.970	USA	106.92	3304.30.0000
49 2060015	ORLY BREATHABLE .6fl oz /18ml CHERRY BOMB	72 EA	2.970	USA	213.84	3304.30.0000
50 20960	ORLY BREATHABLE .6fl oz /18ml DE-STRESSED DENIM	36 EA	2.970	USA	106.92	3304.30.0000
51 2010020	ORLY BREATHABLE .6fl oz /18ml DOUBLE ESPRESSO	72 EA	2.970	USA	213.84	3304.30.0000
52 20951	ORLY BREATHABLE .6fl oz /18ml DOWN TO EARTH	108 EA	2.970	USA	320.76	3304.30.0000
53 2010023	ORLY BREATHABLE .6fl oz /18ml FRESH CLOVE	72 EA	2.970	USA	213.84	3304.30.0000
54 20961	ORLY BREATHABLE .6fl oz /18ml GOOD KARMA	36 EA	2.970	USA	106.92	3304.30.0000
55 20984	ORLY BREATHABLE .6fl oz /18ml GRATEFUL HEART	36 EA	2.970	USA	106.92	3304.30.0000
56 20992	ORLY BREATHABLE .6fl oz /18ml HEART BEET	36 EA	2.970	USA	106.92	3304.30.0000
57 2060001	ORLY BREATHABLE .6fl oz /18ml IT'S NOT A PHASE	72 EA	2.970	USA	213.84	3304.30.0000
58 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	108 EA	2.970	USA	320.76	3304.30.0000
59 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	108 EA	2.970	USA	320.76	3304.30.0000
60 20962	ORLY BREATHABLE .6fl oz /18ml MANUKA ME CRAZY	36 EA	2.970	USA	106.92	3304.30.0000
66 2010005 62 20919	ORLY PREATHABLE 6fl oz /18ml MIND OVER MATTER	72 EA	2.970	USA USA	213.84	3304.30.0000
20963	ORLY BREATHABLE .6ft oz /18ml NAIL SUPERFOOD	36 EA	2.970	USA	106.92	3304.30.0000
49703	ORLY BREATHABLE .6ff oz /18ml NAMASTE HEALTHY	396 EA	2.970	USA	1,176.12	3304.30.0000



64 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUDE	180 EA	2.970	USA	534.60	3304.30.0000
65 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLION	72 EA	2.970	USA	213.84	3304.30.0000
66 20906	ORLY BREATHABLE .6fl oz /18ml POWER PACKED	36 EA	2.970	USA	106.92	3304.30.0000
67 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	108 EA	2.970	USA	320.76	3304.30.0000
68 2010018	ORLY BREATHABLE .6fl oz /18ml RICH UMBER	72 EA	2.970	USA	213.84	3304.30.0000
69 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	72 EA	2.970	USA	213.84	3304.30.0000
70 20964	ORLY BREATHABLE .6fl oz /18ml STAYCATION	36 EA	2.970	USA	106.92	3304.30.0000
71 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	72 EA	2.970	USA	213.84	3304.30.0000
72 20956	ORLY BREATHABLE .6fl oz /18ml WHITE TIPS	252 EA	2.970	USA	748.44	3304.30.0000
73 24903	ORLY BREATHABLE .6fl oz /18ml TREATMENT SHINE	864 EA	2.970	USA	2,566.08	3304.30.0000
74 3300000	GEL FX .6fl oz/18ml BUILDER IN A BOTTLE	192 EA	13.200	USA	2,534.40	3304.30.0000
75 3510004	GELFX .06fl oz/18ml BUILDER IN A BOTTLE INTRO KIT PROFFESIONAL	120 EA	26.990	USA	3,238.80	3304.30.0000
76 34100	GEL FX TRT .3fl oz/9ml ,NAIL TIP PRIMER	144 EA	4.590	USA	660.96	3304.30.0000
77 3350001	GEL FX BUILDER ZEBRA FILE 5 PK	84 EA	5.270	KOREA	442.68	8214.20.0000
78 3350002	GEL FX BLDR BUFFER/FILE 5 PACK 180 GRIT/100 GRIT	20 EA	4.730	KOREA	94.60	8214.20.0000
79 3000216	GEL FX CLR .3fl oz/9ml CECI N'EST PAS BLANC	36 EA	5.370	USA	193.32	3304.30.0000
80 30001	GEL FX CLR .3fl oz/9ml HAUTE RED	72 EA	5.370	USA	386.64	3304.30.0000
81 30008	GEL FX CLR .3fl oz/9ml LIFT THE VEIL	36 EA	5.370	USA	193.32	3304.30.0000
82 30484	GEL FX CLR .3fl oz/9ml LIQUID VINYL	36 EA	5.370	USA	193.32	3304.30.0000
83 30006	GEL FX CLR .3fl oz/9ml NAUGHTY	36 EA	5.370	USA	193.32	3304.30.0000
84 3000161	GEL FX CLR .3fl oz/9ml PROVENCE AT DUSK	36 EA	5.370	USA	193.32	3304.30.0000
85 32474	GEL FX FM .3fl oz/9ml ROSE-COLORED GLASSES	36 EA	5.370	USA	193.32	3304.30.0000
86 30363	GEL FX CLR .3fl oz/9ml RUBY	72 EA	5.370	USA	386.64	3304.30.0000
87 30664	GEL FX CLR .3fl oz/9ml TIARA	36 EA	5.370	USA	193.32	3304.30.0000
88 33011	GEL FX 16fl oz/473ml 3-in-1 CLEANSER	24 EA	5.370	USA	128.88	3304.30.0000
89 33523	GEL FX LINT-FREE WIPES 240pc	48 EA	3.750	CHINA	180.00	4823.90.8850
90 33526	ORLY LONG DETAILER BRUSH	40 EA	3.750	CHINA	150.00	9603.30.0000
91 33527	ORLY SHORT DETAILER BRUSH	10 EA	3.750	CHINA	37.50	9603.30.0000
92 20921	ORLY LAQ .6fl oz/18ml HEAD IN THE CLOUDS	72 EA	2.205	USA	158.76	3304.30.0000
93 20971	ORLY LAQ .6fl oz/18ml POWER PASTEL	72 EA	2.205	USA	158.76	3304.30.0000
94 2000039	ORLY LAQ .6fl oz/18ml SWEET THING	36 EA	2.205	USA	79.38	3304.30.0000
95 2060063	ORLY BREATHABLE .6floz/ 18ml FOREVER & EVERGREEN	36 EA	2.310	USA	83.16	3304.30.0000
96 2060006	ORLY BREATHABLE .6fl oz /18ml MOON RISE	72 EA	2.310	USA	166.32	3304.30.0000
97 3430008	GELFX .6fl oz/18ml BUILDER IN A BOTTLE CONCEALER	264 EA	13.200	USA	3,484.80	3304.30.0000

Line Total 48,519.34

TOTAL INVOICE 48,519.34



Currency: USD







ORLY International 7710 Haskell Avenue Los Angeles, California 91406 USA 800 275 1111 - 818 994 1001 - F 818 994 1144 orlybeauty.com

Hamad Al Mubarak Street Salmiya, Block-9

District General Trading & Contracting Co.



PACKING LIST

Page 1 of 2

INVOICE NO.: SO309843 Date: 2/27/2024 Country of Origin: United States

Ship-To: District General Trading & Contracting Co. Hamad Al Mubarak Street Salmiya, Block-9 Kuwait ZIP Code: 22100

Credit Terms: N90 Resale: Remarks:

Sold-To:

Kuwait ZIP Code: 22100

> Attention: Mohammad Khalaik Telephone: 818-994-1001

Purchase Order(s): DST/24000359 Ship Via: ocean Freight Terms: Ex Works

4 Pa	llets
1207	KG

207 KG				
Ln Item Nbr	Description	Qty UM	Ctn#	Plt#
1 22105	ORLY FM LAQ .6fl oz/18ml BEVERLY HILLS PLUM	36 EA	1	1
2 20087	ORLY LAQ .6fl oz/18ml BUS STOP CRIMSON	180 EA	2-6	1
3 20844	ORLY LAQ .6fl oz/18ml CAKE POP	36 EA	7	1
4 2000216	ORLY LAQ .6fl oz/18ml CECI N'EST PAS BLANC	72 EA	8-9	1
5 20039	ORLY LAQ .6fl oz/18ml CLEAR	108 EA	10-12	1
6 20693	ORLY LAQ .6fl oz/18ml CONFETTI	36 EA	13	1
7 20702	ORLY LAQ .6fl oz/18ml COUNTRY CLUB KHAKI	72 EA	14-15	1
8 22502	ORLY FM LAQ .6fl oz/18ml DES FLEURS	36 EA	16	1
9 20773	ORLY LAQ .6fl oz/18ml HALO	36 EA	17	1
10 2000018	ORLY LAQ .6fl oz/18ml IT'S BRITTNEY, BEACH	36 EA	18	1
11 20935	ORLY LAQ .6fl oz/18ml JUST BITTEN	180 EA	19-23	1
12 20016	ORLY LAQ .6fl oz/18ml KISS THE BRIDE	36 EA	24	1
13 20484	ORLY LAQ .6fl oz/18ml LIQUID VINYL	36 EA	25	1
14 20025	ORLY LAQ .6fl oz/18ml MA CHERIE	36 EA	26	1
15 20713	ORLY LAQ .6fl oz/18ml MIRROR MIRROR	36 EA	27	1
16 20006	ORLY LAQ .6fl oz/18ml NAUGHTY	36 EA	28	1
17 20064	ORLY LAQ .6fl oz/18ml ORLON BASECOAT	72 EA	29-30	1
18 20944	ORLY LAQ .6fl oz/18ml PENNY LEATHER	36 EA	31	1
19 22009	ORLY FM LAQ .6fl oz/18ml PINK NUDE	216 EA	32-37	1
20 20651	ORLY LAQ .6fl oz/18ml PLUM NOIR	36 EA	38	1
21 22503	ORLY FM LAQ .6fl oz/18ml POINTE BLANCHE	252 EA	39-45	1
22 20715	ORLY LAQ .6fl oz/18ml PRINCE CHARMING	36 EA	46	1
23 20076	ORLY LAQ .6fl oz/18ml RED FLARE	180 EA	47-51	1
24 22474	ORLY FM LAQ .6fl oz/18ml ROSE-COLORED GLASSES	144 EA	52-55	1
25 20363	ORLY LAQ .6fl oz/18ml RUBY	180 EA	56-60	1
26 20065	ORLY LAQ .6fl oz/18ml SEALON TOPCOAT	432 EA	61-72	1
27 20295	ORLY LAQ .6fl oz/18ml SHINE	36 EA	73	1
28 20943	ORLY LAQ .6fl oz/18ml STILETTO ON THE RUN	72 EA	74-75	1
29 20653	ORLY LAQ .6fl oz/18ml VIXEN	36 EA	76	1
30 22001	ORLY FM LAQ .6fl oz/18ml WHITE TIPS	252 EA	77-83	1
31 20757	ORLY LAQ .6fl oz/18ml YOU'RE BLUSHING	36 EA	84	1
32 22012	ORLY FM WHITE TIP GUIDES	54 EA	349	4
33 24110	ORLY TRT .6fl oz/18ml BONDER BASECOAT	828 EA	180-202	1
34 24130	ORLY TRT .6fl oz/18ml TOP 2 BOTTOM	288 EA	203-210	1
35 24250	ORLY TRT .6fl oz/18ml MATTE TOP	36 EA	211	1
36 24270	ORLY TRT .6fl oz/18ml POLISHIELD	900 EA	212-236	1
37 24310	ORLY TRT .6fl oz/18ml SEC N' DRY	432 EA	237-248	1
38 24314	ORLY TRT 4fl oz/118ml SEC N' DRY	72 EA	268-270	1
39 24510	ORLY TRT .6fl oz/18ml CUTIQUE	36 EA	335	4
40 24554	ORLY TRT 4fl oz/118ml CUTICLE OIL+ (PLUS)	144 EA	351-356	4
41 24555	ORLY TRT 6pc 1fl oz/30ml CUTICLE OIL+ (PLUS)	100 EA	350 / 357-372	4
42 24340	ORLY TRT .6fl oz/18ml FLASH DRY	684 EA	249-267	1
43 23113 44 23114	ORLY 4fl oz/118ml GENIUS ALL PURPOSE REMOVER	24 EA 108 EA	334	3
45 23115	ORLY 16fl oz473ml GENIUS ALL PURPOSE REMOVER ORLY 32fl oz946ml GENIUS ALL PURPOSE REMOVER	72 EA	307-315 316-333	3
46 2460003	ORLY BRTHABLE TRT.6fl oz /18ml CUTICLE OIL	72 EA 36 EA		4
47 20949	ORLY BREATHABLE .6fl oz /18ml ALMOND MILK	36 EA	336 85	1
48 20908	ORLY BREATHABLE .6fl oz /18ml BARELY THERE	36 EA	86	1
49 2060015	ORLY BREATHABLE .6fl oz /18ml CHERRY BOMB	72 EA	87-88	1
50 20960	ORLY BREATHABLE .6fl oz /18ml DE-STRESSED DENIM	36 EA	89	1
51 2010020	ORLY BREATHABLE .6fl oz /18ml DOUBLE ESPRESSO	72 EA	90-91	1
52 20951	ORLY BREATHABLE .6fl oz /18ml DOWN TO EARTH	108 EA	92-94	1
53 2010023	ORLY BREATHABLE :6fl oz /18ml FRESH CLOVE	72 EA	92-94 95-96	1
54 20961	ORLY BREATHABLE .6fl oz /18ml GOOD KARMA	36 EA	95-96 97	1
54 20981 14Mp 55 20984	ORLY BREATHABLE .6fl oz /18ml GRATEFUL HEART	36 EA	98	1
56-20992	ORLY BREATHABLE 6fl oz /18ml HEART BEET	36 EA	99	1
2060001	ORLY BREATHABLE .01 oz /18ml IT'S NOT A PHASE	72 EA	100-101	1
1	SILE BILLATIABLE OF OZITOHITI SINOTA FINGE	12 LA	100-101	ı

58 20953	ORLY BREATHABLE .6fl oz /18ml KISS ME, I'M KIND	108 EA	102-104	1
59 20905	ORLY BREATHABLE .6fl oz /18ml LOVE MY NAILS	108 EA	105-107	1
60 20962	ORLY BREATHABLE .6fl oz /18ml MANUKA ME CRAZY	36 EA	108	1
61 2010005	ORLY BREATHABLE .6fl oz /18ml MIND OVER MATTER	72 EA	109-110	1
62 20919	ORLY BREATHABLE .6fl oz /18ml NAIL SUPERFOOD	36 EA	111	1
63 20963	ORLY BREATHABLE .6fl oz /18ml NAMASTE HEALTHY	396 EA	112-122	1
64 20907	ORLY BREATHABLE .6fl oz /18ml NOURISHING NUDE	180 EA	123-127	1
65 2060064	ORLY BREATHABLE .6fl oz /18ml ONE IN VERMILLION	72 EA	128-129	1
66 20906	ORLY BREATHABLE .6fl oz /18ml POWER PACKED	36 EA	130	1
67 20914	ORLY BREATHABLE .6fl oz /18ml REHAB	108 EA	131-133	1
68 2010018	ORLY BREATHABLE .6fl oz /18ml RICH UMBER	72 EA	134-135	1
69 20966	ORLY BREATHABLE .6fl oz /18ml SHEER LUCK	72 EA	136-137	1
70 20964	ORLY BREATHABLE .6fl oz /18ml STAYCATION	36 EA	138	1
71 20903	ORLY BREATHABLE .6fl oz /18ml THE ANTIDOTE	72 EA	139-140	1
72 20956	ORLY BREATHABLE .6fl oz /18ml WHITE TIPS	252 EA	141-147	1
73 24903	ORLY BREATHABLE .6fl oz /18ml TREATMENT SHINE	864 EA	148-171	1
74 3300000	GEL FX .6fl oz/18ml BUILDER IN A BOTTLE	192 EA	337-344	4
75 3510004	GELFX .06fl oz/18ml BUILDER IN A BOTTLE INTRO KIT PROFFESIONAL	120 EA	271-290	2
76 34100	GEL FX TRT .3fl oz/9ml ,NAIL TIP PRIMER	144 EA	291-293	2
77 3350001	GEL FX BUILDER ZEBRA FILE 5 PK	84 EA	345	4
78 3350002	GEL FX BLDR BUFFER/FILE 5 PACK 180 GRIT/100 GRIT	20 EA	373	4
79 3000216	GEL FX CLR .3fl oz/9ml CECI N'EST PAS BLANC	36 EA	294	2
80 30001	GEL FX CLR .3fl oz/9ml HAUTE RED	72 EA	295-296	2
81 30008	GEL FX CLR .3fl oz/9ml LIFT THE VEIL	36 EA	297	2
82 30484	GEL FX CLR .3fl oz/9ml LIQUID VINYL	36 EA	298	2
83 30006	GEL FX CLR .3fl oz/9ml NAUGHTY	36 EA	299	2
84 3000161	GEL FX CLR .3fl oz/9ml PROVENCE AT DUSK	36 EA	300	2 2
85 32474	GEL FX FM .3fl oz/9ml ROSE-COLORED GLASSES	36 EA	301	2
86 30363	GEL FX CLR .3fl oz/9ml RUBY	72 EA	302-303	2
87 30664	GEL FX CLR .3fl oz/9ml TIARA	36 EA	304	2
88 33011	GEL FX 16fl oz/473ml 3-in-1 CLEANSER	24 EA	305-306	2
89 33523	GEL FX LINT-FREE WIPES 240pc	48 EA	347-348	4
90 33526	ORLY LONG DETAILER BRUSH	40 EA	346	4
91 33527	ORLY SHORT DETAILER BRUSH	10 EA	346	4
92 20921	ORLY LAQ .6fl oz/18ml HEAD IN THE CLOUDS	72 EA	172-173	1
93 20971	ORLY LAQ .6fl oz/18ml POWER PASTEL	72 EA	174-175	1
94 2000039	ORLY LAQ .6fl oz/18ml SWEET THING	36 EA	176	1
95 2060063	ORLY BREATHABLE .6floz/ 18ml FOREVER & EVERGREEN	36 EA	177	1
96 2060006	ORLY BREATHABLE .6fl oz /18ml MOON RISE	72 EA	178-179	1
97 3430008	GELFX .6fl oz/18ml BUILDER IN A BOTTLE CONCEALER	264 EA	373-381	4







